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1) Solve using the quadratic formula. Round solutions to the nearest hundredth.
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2) Solve using the square root property. Express solutions in simplest radical form.
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3) Solve by factoring. 4x” +11x-20=10
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4) Graph the quadratic inequality. y >-x*>+4x-6
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Name one point in the solution set. |, - [
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5) Solve the quadratic inequality. Represent your solution set using set notation and on a number line.
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6) Put the following quadratic equations in vertex form and identify the turning point and whether it is a
maximum or minimum.
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